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Run 4435 quartetwise, NegHelAccO/NSamplesQ: All

quartetwize_negHQ
— Entries 44419
— Mean 8.588
3000 — Std Dev =~ 3.812
2500 —
2000 —
1500 —
1000 —
500 —
'D [ n | | |
0 2 4 6 B 10 12 14
MNegHelAccD/NegHelNSampleso
Run 4435 quartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON
quanstwise baami las! nagHD
[ Entries 20517
1400 - Mean 11.5
- Std Dev  0.4964
1200 —
1000 —
800 —
600 —
400 —
200 —
'D_"l""l""l"' I A B L1
Fi B 9 10 11 12 13

MNegHelAccl/NegHelNSamplesd

300

250

200

150

100

50

600

500

400

300

200

100

Run 4435 quartetwise, NegHelAcc0/NSamples0: Beam OFF

guarebwise_bsamd negkll
B Entries 7346
— Mean 0.8439
— Std Dev 0.1826
I_ | L | 1 1 | 1 1 1
0.4 1.2 1.4 1.6

MNegHelAccO/NegHelNSamplesO

Run 4435 quartetwise, NegHslAccl/NSamples: Beam ON, Laser OFF

quanstwisa baami_lasld nagHD

Entries 1548649
Mean 8.636
Std Dew 0.4819

I I N T T T T T O IO O O T O Ja1 1

5 |—

6.5 7 7.5 B B.5 9 9.5 10 10.5
MNegHelAccO/MNegHelNSamplesD



Run 4435 quartetwise, PosHelAccO/NSamplesO: All Run 4435 quartetwise, PosHelAccO/NSamples(: Beam OFF

qUE.I'tE'tWiEE_FIEIEH'D a5 = quarebwise_beaml pasHd
[ Entries 44419 — Entries 7346
2000 — Mean 8658 [ Mean 0.8439
— Std Dev 3.854 — Std Dev 01822
- 300
2500 — —
n 250 —
2000 — =
- 200 —
1500 ¢ 150
1000 [— 10—
500 — s
'D [ ﬁ | | D [ I | | | | | 1 I“ | 1
0 2 4 5] B 10 12 14 0.4 . . 1.2 1.4 1.6
PosHelAccO/PosHelNSamplesD PosHelAccO/PosHelNSamplesD
Run 4435 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON Run 4435 quartetwise, PosHelAccO/NSamples0: Beam ON, Laser OFF
guamnsiwisa baami los! poskHc quamstwiza baomi lnsl poskHs
B Entries 20517 E00 |— Entries 15469
1200 — Mean 11.62 - Mean B.675
— Std Dev 0.5013 - Std Dev 0.4874
1000 |— 400 —
800 — _
— 300 —
600 — u
— 200 —
400 — =
N 100—
200 — —
'D_l""l""l"' L1 'D_ AN N N T T I N T T O O A O OO B N B
7 8 2| 10 11 12 13 7 7.5 8 8.5 9 8.5 10 10.5

PosHelAccO/PosHelNSamplasD PosHelAccO/PosHelNSamplesD



3000

2500

2000

1500

1000

500

=

1400

1200

1000

BOO

600

400

200

Run 4435 quartetwise, Sums0: All

=]

I

quartetwize_summbD

Entries 44419
Mean 17.25
Std Dev 7.857

5 10

25

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso
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